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)\3 + O + G +C3 =0
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o= *\5(3C2‘*C12)

b= -;‘_—z- (2 CF’- QC.Ca +21Cs )
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given . |
Exx = CylLmx) | Eyy= Dy (Lmx) | ¥y=-(a0)(A%’)
B.c.! Ule,e)=0 , V(o) =0 o

Goal : U=1 y=7
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Cox = Bt = CYLL=xX) = U = CY(Lx-127)+ YY)
Eg = 53 = DY(L=x) = v=4DY (L) + Xx)
%d =~(C+D)(A%Y*) = %é‘*- 9%\?’

= C(Lx- —},-12)1—%5 - -:‘1.03%‘3.3(2
Move fhof x 1o thelol 2 B oP g +o #e nght
%ﬁ( +C(LA-222) = -L(C+D)CA’:*3’) + —.}Dg‘—-% =E

depords osn x ,def;gs on g.
(%§ +e(Lx-4x) = E

~9L +4 DY~ (CtD)(A-¢) =€
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( X0x) ="C(-§,LX°:.. ZLJB)_‘. EX + J
Y14) = 2DY>- (c+D) (Ay-3¢ )-EY + K
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ueg) = Cy (Lac-3x?) + YY)

= CylLo~4o0)+ FDYs-Cad)(AY-+9°)-EY+K
Vety) = TDY L0 + X(x)
= 2o (L) -C (Lo~ 3 )+ Ex+ T
B.c. utee) = K=o
V(G,O) = 3’ = 0
8§ = C(Lx-32) + 3Dy~ (D) (A% §*)-E

%(0,0) = ~CCtD)A’-E = o . E ==(cpIA?

| utny) = Cy(Lax~4x2)+ 40Y° +3Cc0)y’
vety) =30Y =) - (Rl 22*) - (VA






